Merit System Parameters:

Anchors – Target performance based on the EMA one test limits

Maximums -- Limit of acceptable performance

Minimums -- Best achievable result

Weights -- Relative contribution to total merit

	Criterion
	0-300 Hour Delta Pb
	250-300 Hour Delta Pb
	Cylinder Liner Wear
	Top Ring Weight Loss
	Oil Consumption

	
	
	
	
	
	

	Weight
	225
	225
	250
	150
	150

	
	
	
	
	
	

	Maximum
	35
	14
	32.0
	158
	65.0

	Anchor
	30
	10
	30
	140
	57

	Minimum
	5
	0
	12
	50
	25


MTAC:

Multiple test evaluation consists of averaging the five individual criteria across multiple tests. The Mack T10 Merit Rating System is then applied to the averages for the criteria.

Almost in English:

If a result is at the anchor, multiplier is one. (e.g., Liner Wear=30 yields multiplier=1)

If a result is at or below the minimum, multiplier is two (e.g., Liner Wear=10 yields multiplier=2)

If a result is at the maximum, multiplier is zero (e.g., Liner Wear=32.0 yields multiplier=0)

If a result is between minimum and anchor, linearly interpolate multiplier between 2 and 1. (e.g. Liner Wear= 24 yields multiplier=1+(24-30)/(12-30)=1.33)

If a result is between anchor and maximum, linearly interpolate multiplier between 1 and 0. (e.g. Liner Wear=31.0 yields multiplier=1-(31.0-30)/(32.0-30)=0.5)

If a result is above the maximum, linearly extrapolate multiplier on the same line as between 1 and 0. (e.g. Liner Wear=33.0 yields multiplier=1-(33.0-30)/(32.0-30)=-0.5)

Sum the products of weights and multipliers across the five results. This is the Calculated Merit.

If any multiplier is below zero (i.e., the result is above maximum), the test fails.

If the Calculated Merit is less than 1000, the test fails.

If no multiplier is less than zero and the Calculated Merit is 1000 or greater, the test passes.

In Mathematical Equation:
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